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Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 600 words. 

Explain the meaning of 'Conjecture' with an 
example. In which way you can use 'Conjectures' 
to enhance learning of mathematics ? 

OR 
Generally when you go to market you collect 
information about things you wish to purchase. 
Identify five things you wish to purchase. 
Describe the data collected giving at least three 
packing details. Explain the process followed. 

2. Answer the following question in about 600 words. 

Discuss differences among 'Assessment for 
learning', Assessment as learning and Assessment 
of learning. Give suitable examples. 

OR 
Describe your experience with children in respect 
of the following statement. 
"Children will be able to classify geometric objects 
only when they have acquired the capacity to 
visualize them." 
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3. Answer any four of the following questions in 
about 150 words each. 

(a) What is the difference between conceptual 
and procedural knowledge ? 

(b) Discuss the main features of activity based 
learning. 

(c) Does every net folds into a cube ? Discuss. 

(d) 'Generalization is a key feature of algebraic 
thinking'. Discuss. 

(e) Explain the different representative values 
viz : mode, mean and median. 

(f) How will you help children to understand 
various types of three dimensional objects ? 

4. Answer the following question in about 600 words. 

Design some classroom activities to make students 
aware of the concept of variable. 
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